CRYPTOQUIP

MCKBKEKN SUEKVKB MUBWKX

WD YKW DOW UBX CUEK U
NKUPPZ YNKUW WGVK, XGX

WCKZ YD SPOJIGBY?

Yesterday’s Cryptoquip: WHAT DO YOU THINK
STUDENTS IN TRIGONOMETRY CLASSES MUST
DO CONTINUALLY? WORK THE ANGLES.

Today’s Cryptoquip Clue: Y equals G

CRYPTOQUIP BOOK 1! Send $6.00 (check/m.o.) to
CryptoClassics Book 1, 628 Virginia Drive, Orlando, FL 32803
The Cryptoquip is a substitution cipher in which one letter stands for
another. If you think that X equals O, it will equal O throughout the puzzle.
Single letters, short words and words using an apostrophe give you clues
to locating vowels. Solution is by trial and error.

© 2022 King Features Syndicate, Inc.




